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cndint(x,m,s)
Func
¨(x,mean,std dev) find CND with integration
¨29oct00/dburkett@infinet.com
1/(s*§(2*�))*nint(�^(ª.5*((t-m)/s)^2),t,ª¸,x)
Endfunc
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cnd(x,m,s)
func
¨(x,m,s) find cum norm dist at x, mean m, std dev s
¨Find cumulative distribution at x, with mean m and standard deviation s
¨dburkett@infinet.com 8jun00

(erf(((x-m)/s)/1.4142135623731)+1)/2

Endfunc
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cnd(1,0,1) ��
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cnd(x2,m,s) - cnd(x1,m,s)
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cnd(2.2,m,s)-cnd(1.6,m,s)|m=2 and s=.5
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nSolve(cnd(x,7,1)=0.2,x)
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sgn(x) = when(x�0,sign(x),1)
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cndif(p,m,s)
func
¨(probability,mean,std dev) inverse CND
¨Inverse cumulative normal distribution
¨Returns x with probability that X�x
¨Fast version.
¨29oct00/dburkett@infinet.com

local r,t

p»r
if p>.5:1-r»r
§(ª2*ln(r))»t

when(p�.5,sign(p-.5),1)*s*(t+(polyeval({ª.453642210148�ª4,ª.204231210245�ª1,ª.34
2242088547,ª1,ª.322232431088},t)/polyeval({.38560700634�ª2,.10353775285,.5311034
62366,.588581570495,.99348462606�ª1},t)))+m
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Endfunc
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cndi(p,m,s)
func
¨(probability,mean,std dev) inverse CND
¨Inverse cumulative normal distribution
¨Returns x with p=probability that X�x
¨Accurate, slow version.
¨29oct00/dburkett@infinet.com

local r,t

p»r
if p>.5:1-r»r
§(ª2*ln(r))»t

when(p<.999999713348,nsolve(cnd(x,m,s)=p,x=when(p�.5,sign(p-.5),1)*s*(t+(polyeva
l({ª.453642210148�ª4,ª.204231210245�ª1,ª.342242088547,ª1,ª.322232431088},t)/poly
eval({.38560700634�ª2,.10353775285,.531103462366,.588581570495,.99348462606�ª1},
t)))+m),when(p�.5,sign(p-.5),1)*s*(t+(polyeval({ª.453642210148�ª4,ª.204231210245
�ª1,ª.342242088547,ª1,ª.322232431088},t)/polyeval({.38560700634�ª2,.10353775285,
.531103462366,.588581570495,.99348462606�ª1},t)))+m)

Endfunc
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